1. ¥¥B4

HH5 4 BRSSP NN 3 B3 370

JEAT AT TH & LB BT N

2. EBAK

1) F&IEEH 40 34 2H 7) JiE IR TR s U
2) FHIT4 R4 b8 PR 8) Hi X X
3) K& 2187790002001 9) I - B

4) BRX 5y AR (IRl L2 5T) ONTE 10) #&EHEA S 24 11A
5) ZEE KK 11) WBER—fEEE 0%
6) JEITHIM 1,096 HFH H & & 34 44 1A 1 2) Bl A 4R A 4 34 2H

€) = 4 40 64 3A31H 1 3) b AFEH 4 34 2H

(% FIZ®E) = £ A H 14) AEEAEBE !

15) mirK% M

BTl HEBNE
3. FHEHA
1) FHFEE 2) B 3) BOMY 4) FEL

[ aumds s iR



BEIRRE

(%54 SHSEEBAS LEERIBER
g gk g - ¥ g ROg B # =2 B @ £ % i F
HLEBER A

BRI = 1 52,474,082
BRI = 1 42,141,830
EEAGE = 1 41,329,010

EHEXIE A (R34~R43) A 12[ 1,088,100 13,057,200|1 5 Eiffizk

EHEXIE A (R44~R53) A 12[ 1,088,100 13,057,200|25 Eiffizk

EHEXIE A (R5.4~R6.3) A 12[ 1,088,100 13,057,200|3 5 Eiffizk

EHEE = 1 112,010[1 5 NRE

EBITEE-1BBEE (R34~R43) Fa 1 681,800( 25 NiRE

EHITAE - 1RIEEE (R44~R53) = 1 681,800| 35 NRE

EHITAE -1RIEEE (R5.4~R6.3) = 1 681,800|4 5 NRE
EEER = 1 812,820

RERZBE (R34~R4.3) 2 1 52.644|52RE

k&R EE (R44~R5.3) o 1 5264462 RRE

MREXEH (R5.4~R6.3) = 1 52,644| 78 NIRE

EHHEE (R3.4~R4.3) = 1 218,296(8 5 HRE

EHHEE (R44~R5.3) = 1 218,296 95 NRE

EHHEE (R54~R6.3) = 1 218,296 105 HNRE

fel i R ffi = 1 10,332,252
Z Dt R = 1 10,332,252
—REEEE = 1 28,255,918
E iy = 1 80,730,000

hEHS ERS



BENRE

(%554 SHBEEBAS LEERIBER
HB /Ii& &R 3l R O® Bl #% =2 B * %
X LEBER B
BRI = 1 59,220,820
BRI = 1 47,376,656
EERAHE = 1 47,376,656
EHEXIEB(TEH-%ME) (R34~R43) =] 242 33676 8,149,592|4 B Hiffi&k
EHXIEB(TEH-%ME) (R44~R5.3) =] 243 33676 8,183,268|55 Hiffik
EEXIEB(FERA-KM) (R5.4~R6.3) =] 243 33676 8,183,268|6 5 Hiffik
EEXEB(UAA 2%kf) (R34~R43) =] 123 62,121|  7,640,883|7 5 Hiffik
EEXEB(UAA 2%kH) (R44~R5.3) =] 122 62,121|  7,578,762|8 5 Hiffixk
EEXEB(UAA 2%kf) (R5.4~R6.3) =] 123 62,121|  7,640,883| 9B Hiffik
Fel S 1 = 1 11,844,164
Z Dt R = 1 11,844,164
—REEEE = 1 31,889,180
E ki = 1 91,110,000
E S aliTi-E = 1 171,840,000
HERMELEE = 1 17,184,000
EHERIN = 1 189,024,000

hEHS ERS



ST

% 15RARE EFETE
& Al A Al Hi| # = i & % &
A (A) A 2.3 48,700 112,010
& L 112,010 [1ZEFH L=V
hEh A EED




% 285 ARE

(BT aHE 15 EE(R3.4~R4.3)

1A=y

i Al A Al Bl % =2 B & # 3
(BTt A 12 24,350 292,200 |10E H{fF&
EEES = 1 389,600 389,600 |11 5 HERE

g & 681,800 [1=X 27-Y

hEHh T ERER



% 3EANIRE

XIS 518 E (R44~R5.3)

1A=y

i Al A Al Bl % =2 B & # 3
(BTt A 12 24,350 292,200 |11 B H{EX
EEES = 1 389,600 389,600 | 125 HERE

g & 681,800 [1=X 27-Y

hEHh T ERER



e ra ol

¥ ABNRE

(BT aE-151BEE (R5.4~R6.3) 1KLY
i Al A Al Bl % =2 B & % 3 *
(BTt A 12 24,350 292,200 |12 H{f&
EEES = 1 389,600 389,600 | 135 HERE
g & 681,800 [1=X 27-Y

hEHh T ERER



% S5EANHRE REXEER3A~RAZ) 1Rl

& Al A Al Hi| # = B & % & =
REXBE EX S i=hca 5 12 4,387 52,644 |13 5 ik
=11 52,644 (1= L4711

hEHh T ERER



% 65MNRE ERXEE (R44~R5.3) 1Rl

& Al A Al Hi| # = B & % & =
REXBE EX S i=hca 5 12 4,387 52,644 | 145 Bk
=11 52,644 (1= L4711

hEHh T ERER



% 75RNHRE ERXEE (R5.4~R6.3) 1Rl

& Al A Al Hi| # = B & % & =
REXBE EX S i=hca 5 12 4,387 52,644 | 155 Eifi&k
=11 52,644 (1= L4711

hEHh T ERER



£ 8FNIRE Hif EE&(R34~R4.3) 1 &7l
i Al bt Al B # = i & %8 &
PR - hAESE = 127,188
HlREHE NhO—JLE =X 29,700
MR AERRE = 29,518
AR = 31,890
=k 218,296 |1 H7-Y)

hEHh T ERER



% 9B NIRE

BHlEHEE (R4.4~R5.3)

1A=

& Al A Al Hi| # = i & % &
PR - hAESE = 127,188
HlRER NrO—)LE =X 29,700
AR E R EE = 29,518
AR A = 31,890
=111 218,296 (1= L1V

hEHh T ERER



% 105WRE

HHEHEE (R5.4~R6.3)

1A=

& Al A Al Hi| # = i & % &
PR - hAESE = 127,188
HlRER NrO—)LE =X 29,700
AR E R EE = 29,518
AR A = 31,890
=111 218,296 (1= L1V

hEHh T ERER



T 15 HE T LEERZIEA (R3.4~R4.3) Wz EN)
& Al A Al BHi| #H =2 i & % fi&
Bt g = 39 27,900 1,088,100 |19. 5H A
it 1,088,100 |1 B &1=1)

hEM S ERR



T 25 Hl®E A LEETIEA (R4.4~R5.3) 1H &1
& Al 8 Al BHi| #H =2 i & % fi&
Bt g = 39 27,900 1,088,100 |19. 5H A
it 1,088,100 |1 B &1=1)

hEM S ERR



¥ SEHI(ME A LEETIEA (R5.4~R6.3) 1H &1
& Al 8 Al BHi| #H =2 i & % fi&
Bt g = 39 27,900 1,088,100 |19. 5H A
it 1,088,100 |1 B &1=1)

hEM S ERR



5B ASHI(lx S LEREF B (R3.4~R4.3) 1HH-Y
i Al A Al B % =2 {iff & % fim
S LEBRERB T HKRME = 1 33,676 33,676
it 33,676 |[1EX7=U

hEM S ERR



5 5B HI(fix S LEREF B (R4.4~R5.3) 1HH-Y
i Al A Al B % =2 {iff & % fim
S LEBRERB T HKRME = 1 33,676 33,676
it 33,676 |[1EX7=U

hEM S ERR



5 65 H(fix S LEEEF B (R5.4~R6.3) 1HH-Y
i Al A Al B % =2 {iff & % fim
S LEBRERB T HKRME = 1 33,676 33,676
it 33,676 |[1EX7=U

hEM S ERR



5B 7EHI(Mx S LEREF B (R3.4~R4.3) 1HH-Y
& Al 8 Al BHi| #H =2 i & % fi&
S LEBRERB KB 2% = 1 62,121 62,121
it 62,121 |1H %=

hEM S ERR



5 SEHIizx S LEREF B (R4.4~R5.3) 1HH-Y
& Al 8 Al BHi| #H =2 i & % fi&
S LEBRERB KB 2% = 1 62,121 62,121
it 62,121 |1H %=

hEM S ERR



5 9B H(ix S LEEEF B (R5.4~R6.3) 1HH-Y
& Al 8 Al BHi| #H =2 i & % fi&
S LEBRERB KB 2% = 1 62,121 62,121
it 62,121 |1H %=

hEM S ERR





